Equations différentielles

Résoudre sur lintervalle I proposé les équations différentielles suivantes d’inconnue y(x):
a) zlnzy +y=ux, I=]1,+0o00]

b) zy' + 3y = I =R}

T
o) (1-2)%'=@2-a)y, I=]-00]]

d) z(zy’ +y—z) =1, I=]—-00,0]

e) 2zy +y=at, I=]—00,0]

f) y' + 2y = x? — 3z, I=R

)Y +y=1i5e =R

h) y'sinz —ycosz + 1 =0, I=]0,7[

i) (1—2%)y — 22y = 22, I=]1,40c0[, I=]-1,1, I=]-1,400|
D)lzly + (@ -y =2°  I=]-00,0[ I=]0,+o0]
k) 2y’ = |y — 1], I=R

D)y +y=(-2z+2)e", I=R

m) 2z(1 —z)y + (1 —z)y =1, I=R

ny —y—Inz=0, I=R

o) 2r(l+2)y +(1+z)y =1, I=R

p) (14 2%)y + day = 0, I=R

q) A+z)y —zy=0, I=R

1)y + 4y = (z —1)e”, I=R

s) —y' — by = sinx — cos z, I=R

t) y” +y + sy =sinz, y(0) =y’ (0) =0, I=R
u) y’ — 2y +y=2e", I=R

v) y" +y = cos® z, I=R

w) Yy —2y +2y = —3cosx + 5sinz, I=R

x) y" + 6y + 9y = **, I=R

v) y" =2y 4+ y = coshz, I=R

z) y" — 2ky’ + (1 + k?)y = e*sinx, I=R



